L’IMPARFAIT DE L’INDICATIF

lalblcldle|f [gfh]i [j[k[l [mlnolplafr[s [t ulv|wlx]y]|z]
Conjugue ces verbes a limparfait 1 +1
et a la personne demandee : 2 )
1. ranger = nous ... 3 -6
2. saccager = je .. 4
3. hager = vous ... 5 4
4. partager 2 tfu ... 6 6
5. protéger =2 vous ... 7 +10
6. bouger 2 il ... 8 11
7. outrager = nous ... 9 1
8. juger = vous ... 10 +5
9.venger 2 je ... 11 3
10. arranger <> elles ... 12 3
11. engager = tu ... 13 +16
12. manger = nous ... 14 15
13. partager <> ils ... 15 4
14. dégager 2 je ... 16 6
15. nager 2 tu ... 17 /
16. bouger = vous ... 18 *4
17. juger = nous... 19 -10
18. saccager =2 ils ... 20 5
19. protéger = nous ...
20. manger = tfu ...
Compléte ton message
1 2 3 4 5 6 7 8 9 10
|12 )13 |14|15) 16 17 | 18 | 19 | 20
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